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Quiz 5
This quiz is graded out of 10 marks. No books, calculators, notes or cell phones are allowed. You must show all your work, the cor-
rect answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (5 marks) §1.6 #18a Consider the matrices
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Show that the equation Ax = x can be rewriten as (A —I)x = 0 and use this result to solve Ax = x

(A-I)x =0 -
A Ix = 0 ~oaRH=R | 0 -1 - 5,’ O
AX oo 3R+R=R, [ O -2 =61 0
X - = ,
- [ 2 C
X— x VA l 3
¢ A o -l -6 O
¢ . !
A-I=T1 1 2 bR [0 o (, O
a1 -2 vnigpe  selvticn $luce ﬁ‘(‘“{'"}
J 310 vel,?vl;ﬂ vav colvinm y = #vav.,
“ v ﬁ/‘“/,&é Co[ 5/1/16‘(. hﬂm%cwtoué
112 ; 0 éyészm
2 I -2, 0) _
Question 2. (2 marks) §1.7 #28 Find a diagonal matrix A that satisfies the given condition: . t ‘/3 0 0
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Question 3. (3 marks) §1.7 #33 Prove: If ATA = A, then A is symmetric and A = A2,
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